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1 ™ V7] 5,762 3,693 64.1 484 (| 1 & = 7 198 97 49.0 1.6
2 i K B 5 B 195 63 32.3 08| 2 # % & 2,420 787 32.5 13.1
IR F A X T £ 17 412 01| 3 R & & 4,841 1,666 34.4 27.7
4 B & B X O & 5 40.0 00| 4 fF sl & 1,619 958 59.2 15.9
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7 JLIGHMARIGE 11 4 36.4 01| 7 £ N & 1,127 252 22.4 42
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11 RBREX RN TE 6 3 50.0 01 (|11 & & = 2,102 997 474 16.6
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15 & 53 H & 1,255 95 7.6 1.3
16 Bf B I A 22 18 81.8 0.2
17 & 5} & 0 0 0.0 0.0
18 #% A & 62 0 0.0 0.0
19 #& i & 230 541 235.2 7.1
20 & 1R A 506 57 11.3 0.8
21 & 1,442 0 0.0 0.0
m A & & 15,902 7,626 48.0 100.0 m H & § 15,902 6,014 37.8 100.0
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